ETRIBHEEESE 19 56 6 RICEDE. WESETITETEDOSH 4 FEEMIRNLE
NERUFXT.

(1) LEDRAEISG
BUEBR = BiRsERSE (%2 %)
50% 2 5% 2 5%

(2) BEMIC DD LHMEDIE
HERR E#hE BERSERRHAE (52 4F)
4 0% 31. 3% 29. 49

(3) BHEEEDRBELENE - BIESIAIROESER
HERER = BiREERSME (%72 %)
8 0% 8 3% 0%

(4) BHHE OB RAEDEIGER
HERER =#fE B{RsERRE ($F2F)
30% 33% 0%

(5) FOBENBOUSE
HEBRR E=A{E BiRsERRNME (S5 24F)
80% 4 5% 4 6%

(6) BRI ENFSHERTRIER
HEBIR =B BiRsERRHAE (T2 5F)
7 O BFREILAA 110. 38FR 7 1. 265#E

(7) FEXREHRNIBEESEE
HEBIR m#hiE BiRsERRE (£ 2F)
148E 11. 34 11H




